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1+2*3=7
1*(2+3)=5
1*2*3=6
(1+2)*3=9

Given 3 integers a, b, and c. The task was to insert signs of
operations '+' and '*', and probably brackets between the
numbers so that the value of the resulting expression is as
large as possible:

LET'S START!

Expression



Analysis

(1 + 2) = 3   (max)
(1 * 2) = 2

(1 + 2) + 3 = 6
(1 + 2) * 3 = 9 (max)

maxVal() will check the do the following operation in
this order:

Given that a=1, b=2, c=3:

(2 + 3) = 5   
(2 * 3) = 6    (max)

1 + (2 * 3) = 7   (max)
1 * (2 * 3) = 6   

maxValRev() will check the do the following operation
in this order:

find max(9, 7) => 9



Analysis (Brute Force Solution)
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